Po38'a3ybanns 3agau 3a gonomozoro pibnsus (6 Ka.)

3agaual. . JIBa aBromaTn poadacysaan 162 kr pucy, A0 TOro }x nep-
muit — #a 30 kr Giabwme, Hix Apyruit. Crinbku Kinorpamis

pucy poadmcynan apyruit asromar?

Cr.aagemo cropoweril anic ganux Jagasi:

I abmomam - K2 Ha K2 dibuue
2 abmomam - K2 : ' J
Bevoreo - K2
Craagemo plbHAHHA:

+30+ =
P06 sorcemo plbHAHAS:

X+ =

X = 162

.-x:

x=

x= (K2) - poagpacybab I-it abmomam

+30 = (k2) - poygpacybab 2-it abmomam

Bignobigs: 1-it - K2, 241- K.
. 3a asa aHi pepmep pBiagnpasus Ha puHOK 126 Kr noayHMUb,
Jagaua 2. A0 Toro x mepmoro aAas — 0,8 Toro, mo BiAnNpaBuB Apyro-

ro ausa. CRiZbKH KijorpaMis noayvHuIb Bignpasasas dpepmep
KOXHOro ausa?

Craagemo cropodeHul Januc GaHux Jagayi:
I geno - K2

2 geno - [vd
Bevozo -

Cmaqe.moptﬂumm.ﬂ

X+X =

P03’ soncemo pibHIHHS:
n=

X=
x= (nz) I gens

‘B@wﬂw Ig gewo- K2, 2geHb- K. .. \vEWORKSHEETS



